P.O. Box 077

Tel. + 25290 7795711 Email: shafshafo2@gmail.com



مكتب الرئسي: جالكعيو، الصومال ص. ب: ۷۷، ت: + ۲۵۲۹،۷۷۹۹۵۷۱۱۱ بريد إلكتروني shafshafo2@gmail.com

Date: Aug. 7, 2019

Ref No. Rel5/8/2019

To: Concerned Humanitarian Organizations

Subject: Request for the Advancement of Education in Puntland

Shafshafo for Relief and Development hereby submits a request for instructional tools for the educational centers like Universities in the major cities in Puntland State of Somalia.

We, in <u>Shafshafo</u> for Relief and Development Organization, would like to embark on advancement of higher education in Puntland State of Somalia. We would like to send you our request for the participation of your esteemed organization or to cover immediate needs of this project.

The details of the project are hereby attached for your kind consideration. The total cost of the project is estimated to cost 217,510.00 USD, depending on the attached initial plan.

We would like to thank you in advance for your kind consideration of this request.

Abdirahman Warsame Public Relations Officer

Shafshafo for Relief and Development Organization

Email: <a href="mailto:Shafshafo2@gmail.com.com">Shafshafo2@gmail.com.com</a></a>
Website: <a href="mailto:http://shafshafo.com">http://shafshafo.com</a>

Huars and

P.O. Box 077

Tel. + 25290 7795711 Email: shafshafo2@gmail.com



مكتب الرئسي: جالكعيو، الصومال ص. ب: ٧٧٠ ت: +٢ ٢ ٩ ٩ ٩ ٩ ٧ ٧ ٢ ٥ ٢ بريد إلكتروني shafshafo2@gmail.com



# Request for The Advancement of Higher Education Institutions in Puntland

P.O. Box 077

Tel. + 25290 7795711 Email: shafshafo2@gmail.com



مكتب الرئسي: جالكعيو، الصومال ص. ب: ۷۷، ت: +۲۰۱۱۹۹۹۷۹۹۹۱۹۹۲۹۲۹ بريد إلكتروني shafshafo2@gmail.com

### **Project Summary**

#	Activity	Description		
1	Project Name	Advancement of Higher Educational Institutions in Puntland State of Somalia		
2	Beneficiaries	The young generation of Puntland State of Somalia		
3	Target Area	Educational institutions reeling under the poor educational and instructional tools		
4	Implementation	Shafshafo for Relief and Development		
5	Community Contribution	Distribution and installation		
7	<b>Total Project Cost</b>	\$ 211,910		
8	Contact	Osman A. Omar or Abdirahman Warsame email: <a href="mailto:shafshafo2@gmail.com">shafshafo2@gmail.com</a> Website: <a href="mailto:www.shafshafo.com">www.shafshafo.com</a>		

### **Project Background**

Somalia has gone through three decays of destructive internecine wars. The central government collapsed. The meager infrastructure has been devastated in the process. Education like health has not been a priority among the hostile local administration established. This situation prompted social malaise like piracy, exodus of the educated from the country, religious extremism, lawlessness and any imaginable crime of a country whose younger generation a correction education.

## **Project Justification**

As is known, Somalia has been in turmoil for the last three decades with no capable central government. This prompted a major setback in the education of the youth who in desperation contributed to anti-social practices like piracy, rape, delinquency and other kinds of crime in the

P.O. Box 077

Tel. + 25290 7795711 Email: shafshafo2@gmail.com



مكتب الرئسي: جالكعيو، الصومال ص. ب: ۷۷، ت: +۲۰۱۹۹۹۷۷۹۹۹۲۱ بريد اِلْكتروني shafshafo2@gmail.com

major cities. This can only be reversed by creating opportunities through education which empowers them to have qualification that assimilates them in the local job market.

Shafshafo for Relief and Development is supporting many educational institutions like Puntland University for Science and Technology and other basic educational institutions.

# **Project details**

#	Items	Quantity	Price/unit (\$)	Total \$
1	Computer Systems preferably Windows Surface	80	2,000	\$ 16,000
2	Deskjet Printers	20	100	\$ 2,000
3	Laser Printers	10	700	\$ 7,000
4	External Storage with capacity of 5 TB	40	750	\$ 30,000
5	Computer Mice	80	15	\$ 1,200
	HP laserjet Pro printers	5	230	\$ 1,150
	Medium-sized photocopier machines	10	1026	\$ 10,260
6	Heavy-duty Photocopier Machines	10	12,000	\$ 120,000
7	Electric Stabilizers	20	150	\$ 3,000
8	Computer Desks	40	40	\$ 1,600
9	Headphones	80	15	\$ 1,200
10	Routers	50	\$ 120	\$ 6,000
11	Training on the use of educational instruction \$8,000			\$ 12,500
	\$ 211,910			

P.O. Box 077 Tel. + 25290 7795711

Email: shafshafo2@gmail.com



مكتب الرئسي: جالكعيو، الصومال ص. ب: ۷۷، ت: +۲۰۲۹،۷۷۹۹۰۷۱۱ بريد الكتروني shafshafo2@gmail.com

# Implementation of the Project

The project will be implemented by Shafshafo for Relief and Development Organization. Shafshafo is a non-governmental non-profit organization which operates in Somalia. It has its main office in Galkaio, Puntland State of Somalia. Shafshafo has a history of carrying out multiple relief and developmental projects in many places in Puntland. It had won recognition from the local authorities and international organizations. For further information, please refer to our website: <a href="https://www.shafshafo.com">www.shafshafo.com</a>.

### Glimpses Shafshafo Activities in Pictures















مكتب الرئسي: جالكعيو، الصومال ص. ب: ۷۷، ت: +۲۰۲۹،۷۷۹۹،۷۱۱ بريد إلكتروني shafshafo2@gmail.com









